Rectangle Challenge September 10 (1P).notebook September 11, 2012

Your pool is 15 ft wide and 20 ft long with ck surrounding it.

You want to build a fence around the deck. How much fencing will you need?

2\t

P = QY2+ 2x2
_“T‘Q-Q_+l5’)~ ’lﬁ'
AR

9% Ft “f -F('ICi’\j 1S Neadtyd

Sep 11-11:47 AM



Rectangle Challenge September 10 (1P).notebook September 11, 2012

A building complex has two parking lots. One is indoor and one is outdoor. Both
parking lots have the same area. If the outdoor parking let is rectangular in

shape and is 32 m by 8 m, what are the dimensions of the square shaped
indoor parking lot? (Hint: Draw a diagram for each parking lot.)
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